SHI7TEE  =Rm —Rest  WIE PEEEREAS—N NO, # 1
= | & | 8
3 | 2| 6 BLEE-RE | HEDHaNESR
BEXSD WIEEE (5%) BER 3 FEEDORFTIE
e B SHET AR TEE (F)
£ |0 RREAR ZOMEREE AR 2,000
(#F&) 0
SR IR E IS TR KoL
138 |©
B o
BIERS 6B e
* fHIEFEEIERIGHAE O (O~00:t) =» 2000
SUR—S 14 /8 DZOMOETRE (LN DASIEE * 4R 0 EIEA = 0
15 /B O (O+0) EXELSETEE - 2,000
WAICRET? | PEHE FM) FEMIBENER (7r) en
AEEAE (Fr)
HE (@) EEHe B He i RS ETOM
2,000 0 0 0 2,000 0
SHI7EE - —
BAER ) BEHS - EI0S AR EDRTN
(F5) EE%te
BEMBAR|  axpe
=k SASLRIGEESREAS
FENE | o mmrsT0RERE, BEhST—TIEESS, 5, SIHCULRREENL, REOREFORE
RUTOEM [ er
(BHETED) = °
17 BREBAT (OZOMEREAR)
IBEFA (BE=7—TI)
1 | -
B OEEiR
iz
(FEHIERRR)
FEEX/K
MEE,/ HMEE
BliRER
o
(—E%/
)




DH7EE

TLANE.

=rm BRIt WE PEBEIEES N NO, # 2
x| m | B
10 | 1 3 IBLEE- 0L | BED-EREER
BEXS Ve B3R 3 FEOOFRITIE
EETS B H HETZHR FEE (FM)
Ex O % B & SARMEETAL 100
L _ (E5) @ = E N HERTEN (HE) 400
R RS E B A THE B A S
2% |©
5 |@
HIEXSY 6AMIE e
« BEFEBERIHAE 0 (0~00nit) = 500
BN 16 /= QZOMBOERE (LS DAFTEE * 248U 0 & A =» 0
17 /B 0O (0+0@) XS5tk = 500
BAICBT? | FERE (M) FEMIBEAER (Fr) s
5 —HREAR (FMm)
LS| (@) EES S BHe e &iEa%zOM
500 0 0 0 500 0
SH7EE . N
APEX S HENE - BIEE LB ORI
(FE) EE S
WERENR | sume
&ias 2RV BLHEBRE
gy |TEOEHT PRV THE LRI - - S E B DB R
e @gﬁa«] (1) FEEOMEDENIMTHEV TSR BBEDIWD
o) | (2) FEENSAAET, e BAR—Y- XACEMEREAOSIN AR BIRE D
(3) FEEORBBAOVEDERBIRE D
0 7 R{EHE (MBETHIAL)
- EREBNMRERIC(A355EM:A4L : 100,000
EURSUL, KBS, HERS)
1 2 BEH (OL£BSEN (EE) )
- EEFEA/CILYNEOFER : 400,000
ULy, BHEISVERR)
BROEEIR
=
(SEMRERER) < B CRBISN ZEBEEIDIE T
Eg—BE /R _ —s -
REH,/HE% f
BlRER
m
(—Bx/
M%)




SH7EE =k —ig=Et MHE TESBERTFEI-—H NO, i 3
4 1B =i
10 1 3 BHIF R HESD - FRHER
BEXD e BER 3 FEEDORFKIIE
ESE 52 B HEnain FEE (TMm)
Ex O % B & SARMEETAL 153
. (FH) | @ B BRAE 416
U=T129 D XRI—-)VBZE [OES X
=28 (© i3 & B RE 206
B o = f B SHFER 25
HIEXSD 6B ##HIE e
* {BIEFEEIERIHAE 0O O~OD:t) =» 800
FER-T 16 /B QZOMOERE (LN OEETEE *3%HRL"0"ZiEA =» 0
17 /& O (O+0Q) FES5tE-» 800
BACRETS | FE%E (vm) FEMIRAER (FA) I
5 — —RSAAIR (FM)
HE (@) EESZHE BYHE & BiBEEZ0f
800 0 0 0 800 0
SHT7EE - * N
BHREX 5 e -8B M FEE DA
(FE) EESZHE
BEMENR|  aupe
&g Y—F4>J D X A)— )| BERTE
e )=F4>9 D XZAT—-)BE] (XERIFEE) &, —A—BlkOELETRRCESINTOWSNANRYINITTEDS
B 0)59’\] JRRIEZERAL, REEFEOBREREHOERPLERNRERFZVEHBNRFVO—ARNRTEE, BRFEODXIL
) EHEET B EBINEUEEETH D DIl 7 EEDIBER UVRNER, JURFZER) OHRAICELD, mRERA
(HETED) =
NER, ExEzX?,
0 7 $REE (@s8AHHI1L)
- BEMERZE 153,000
0 S8ikE (DERFAE)
- SEREERRE 110,640 (2 A%) x2[@E  221,280M
- £ 41,820Mx2 A 83,640M
- BE%¥3E4 1 55,320x2 A 110,640/
BEDEER
e 0 8if&E (@EEIRE)
- SERMEERE 55,320Mx 2@ 110,640
(G¥HM5%8R) - &% 41,020
FX-EBR/| - E=¥B4L  53,720H
NEHE,/ ME%
1 0FHE (DEFERE)
- 2, JOE-FBiK, S8EEJ7 ) 25,000M
RIRER
(—&8xX/
XmE)




SHI7EE =k —RSi B TEEEREES— NO, # 4
% | & | B
10 | 23] 1 DS R | HES HAECER
BEXD ZOfhE%E (BIBIPIREZ) —
e TR RN )
5 |@ 8BS, BIRURMSE R ) 1,000
(#F&) 0
SRETERERESEEEYE | mox
138 |©
H o
WEXS R e
RETEEERAE 6 (0-00:1) = 1000
A 6 /= QLOMOEBE (LN DATHE + 4R 0 EIFA - 0
17 /B O (O+0) EXELSETEE - 1,000
BAICBT? | FERE (M) FEMIBEAER (Fr) s
—RREAR (FMm)
I5E (@) EExLE | Exte - SEaSz0M0
1,000 0 0 0 0 1,000
SH7EE : —
BAVES) BIS- 210 TSSO
(F5) EES L
BERAR|  mae
TS
&ifo?;q SF1 8 4E 4 BNBOE SN B N RRP= Rep S B AR SR OFERECL, BN SRR UER
UTORN | eomhe s B RAOHBIETIE0.

FXROEER
U
(FHHmE5ER)

FE-EBXRK
NEE/MEF

RIRER}
(—Bx/
M%)

(BN SRAZE)
(1) FIRERBDFRDEZEEDFITICE I HHEE
2) FIRERBDFRDETSHEDEILICE T BHEE
Q) FARAZITILDICHERIEE

1 8l (OWbhsE (#HBHE) )
-\ NAREARGEC S S5 #EEIE  500,000M
-EHEPAREARECESEE T 500,000/

T\IE/INFAL




